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Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any five of the following questions: 2x5=10

RS @ @E G amie T we ¢

(a) Mention the basic idea behind the Life Cycle Hypothesis of Consumption function.
(Slo-SorFe TifFe Gabe weibd o o 4Relf Srad w6 |
(b) What is Marginal Efficiency of Capital?
TR Afes wwel 2
(c) What is Inflationary gap?
Ui FIT 2
(d) What is the shape of long-run Philips Curve?
@I Philips (@419 SIgfe Fwst
(e) What do you mean by Classical Dichotomy?
Fo FoTO! (Dichotomy) Je1Co J @@
(f) Define natural rate of growth.
FelReT Jfas 29-a9 AiE 0l |
(g) What do you mean by Acceleration Principle?
TITTG IS P QIR ?
(h) Define interest elasticity of investment.

R more Riegrmor el v |
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2. Answer any four of the following questions: 5%4=20
fsfie @ @ bR deea Ted wie ¢
(a) Analyse the factors that affect the marginal efficiency of capital. 3+2=5

TR Aifes wrel (@ delfe @ @ el fKeske s

(b) Explain the Classical and Keynesian view on unemployment.
RIIACGT 4F9ll FIfFS Classical 9% Keynesian ToaWei Sam= ST |

(c) Discuss the nature and implications of the short-run Phiilips Curve.

TP Rfe1omT @49 25 @ o Siesid St Fe |
(d) What were the empirical findings regarding consumption function by Simon Kuznets?

(SR SAFFHA (H(E ABAT-FH07- ST oA waiafer F e e

(e) What are the differences between Net Present Value Criterion and Marginal efficiency
of Capital theory of Investment?

fafcmer T6 T J5 (NPV) €@ MEC ©ited Wiy ool J Jie

(f) Explain the Flexible Acceleration Principle of Investment. Write down two limitations of
this theory. 3+2=5

Flexible RfNw@iem geroel sesat st @2 sg 1o @b @l |

3. Answer any one question from the following: 10x1=10
fslerie @ @ 970 2oa Teq mie
(a) Explain the Permanent Income hypothesis of consumption expenditure. 8+2=10

(S5 Permanent Income &b 7 FCA! |

(b) Explain Harrod and Domar model of Economic growth.
Harrod @38 Domar-@3 St 3faa ©g’ SN el |



